)

NS BNESEEET JUp

"ALTO0 AMLSNANI 3ARI NVHZ ONOG IVHONVHS ﬁ

NE
/g,

1a0Npay J0J0W OAISS U0 [ HEfe

”»,
@ VEGH%M
\«. SwN:ZUN DZg;SﬂZJé

I RS ARAT

V SHANGHAI DONG ZHAN DRIVE INDUSTRY CO,LTD.

JH‘T.IK- YAD-090-010-P1
e SN20Z1030500(2

SE AT IR IR

HIGH PRECISION PLANETARY GEARBOX



BEBHILTEEXRHER

Professional supplier of precision drive program

LigaRENEERAT

SHANGHAI DONG ZHAN DRIVE INDUSTRY CO,LTD.

&

Business Philosophy
Details make or break a service that changes the future.

WERE
—MRAMRWSTBFEE. LIRA—XEMANRE. UZRE , HAIHEF,
WEASHEREEE. FTERNEN , SHATR , FENES.

Integrity is everything

A long-term enterprise based on reputation, treat people with sincerity -- this is the quality of life, the foundation of career.
We insist on the principle of credit and trustworthiness to our clients and colleagues, the money is precious, the credit value
is higher.

miEERE
NENAHFERERRERIIAMER , RITNMARSHLSEATIRE. FBANR
B—TMEEFRNATE , BR—FRXARANRENAE.

Steady Development

Sustainable and stable development of the company is our unremitting pursuit of staff development and progress is the
responsibility of the company. Chong Ming is not only a company operating products, but also a company developing
human resources.

RET £
AFBLRLETREMIRR  EEELER . "REAS. ABRR. RBRS" .
AT | BRIGIRS | NP IRHER KRS,

Quiality Policy

The company gradually improve the implementation of quality assurance system, in the management of adhere to:
"excellent talent, excellent quality, excellent service. ". Implementation: Zero Defect Service, to provide users with a higher
level of service.



S LENREDNEERA ‘ﬂ
e

NNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNN




>> FmARIBEZFR

HSE Features P 056
Wb, BT Model number P 056
MERE— YR Performance table P 057
Ra—4% Dimensions P 058
A Features P 065
i, BSRB Model number P 065
MRE— R Performance table P 066
RY—%% Dimensions P 067
I Features P 075
i, BSRB Model number PO075
e R Performance table P 076
RY—%% Dimensions PO078
H51E Features P 085
Wb, BISED Model number P 085
e % Performance table P 086
RI—%% Dimensions P 087
AT Features P 091
i, BSRB Model number P 092
MR Performance table P 093
R—% Dimensions P 095
HHE Features P 114
HRh . BISHRED Model number P 114
fEeE— % Performance table P 115
RY—¥% Dimensions P 116
BRI BA Motorinstaliation instructions P118
FEFEFEIN satety precautions P 120



= mfsiE

Products Features

S
§e~
- °
\b ° L4 [ ]
FEERNEDNERARE BAMS DAMERRARR
RISEZRREE, BN o RO ENEHESHEES
MERLURA NI R LS Dk il L St IR I i IN A
148, WE RN —RIEMLHAGEUL, 8 OHROEMSSEOE
BEETIN, FRE. BHHEEN -
(ERSPansE,

pr ‘

FBANSYSEAN R ZEHTHERTSN, B
YA EFERRSRER, LURRERESATS
HHRS, BINSRRERE®.

HEMHRARRESEN, SK-AHLBSLE, N
3RS BRI E MEAO M R S ¥ 1E

- ﬁ\ /

KSR SEA#BRA— B EE
®it, BREANHENERSEA
TREESHHBRA—BIMZIEH RETHTERNDEE.
Z19igit, MREAIHENIME.




= o I

Products Features

FEmigsa/products features

**"Eﬁ%ﬁdﬂﬂt’\iﬁﬂﬁﬁdafﬁ—ﬁ*ﬁﬁ Mrem , BEUT—EEEEA
1{RIEE: {£F65db,
2{KE B$ BRENALMSA |, SNKENE3MO .
3B BERTEIS %A L , WERREI2%LA L,
4 SHNEEE: AJiA8000RPM,
5.5k tb—ARRE T ERETHES.
6. SiaEt: RASREASINN , BN ARE |, IERERERL , HIREREESRKPERINMATFRINES
)Eo
SRR SRR EIRTT SRR EIES | EEAIA1/1000LA £,

The precision planetary gear reducer is a new-generation practical product developed by our company. It has the
following main features:

1.Low Noise: Under 65db.

2.Low Backlash: Backlash is under 1 arcmin.Backlash for 2-stage speed reduction is within 3 arcmin.

3.High Efficiency: Efficiency for 1-stage model exceeds 95% ,For 2-stage model exceeds 92%.

4.High Input Speed: Input speed allows for up to 8000 RPM.

5.High Torque: Higher torque output than that of conventional planetary gear reducers.

6.High Stability: Employs high tensile strength alloy steel.Gear hardening is made for the entire gear instead of
only surface hardening,which extends gear service life and maintain high accuracy as new after a long period of
operation.

7.High Speed Reduction Ratio: The gear reducer is a modular deign.The planetary gear box can be
connected.Speed reduction ratio is over 1/1000.

7= mi&/Precision usage

KR T RN IRIEAR 2R AT LA T

Lin=fk. EErodl,

2ETRE. BHEEEAFL,

3.TWMNBEA. Er-Banit. HuEtRHIE L,

ARFEHIE. 4R, EORl. BR. A, IMRIE. RS

Precision Planetary Gear Reducer is widely used in the following domain:

1. Aerospace, military industry.

2. Medical health, electronic information industry.

3. Industrial robots, Production automation, CNC machine tool manufacturing industry.

4. Motor, textile, printing, food, metallurgical, environmental protection engineering, warehouse logistics
industr.




R Y E A

Reducer selection

NI A IROE B e R i SE B AE R
E Tz ________________
31 B 94 - e S »
S5 il S1 3 Top . : E
A wEE L B .
YES ED<60% NO | ' | | i
t work<20mins RE E | | | | |
(Eq.1) 2 Fara Faaa s St ST !
r _I % F2rc‘F2ac— ----- !—---: ------ : >
SHEAELL (Eq.2) SHEHIE L (Eq.2) £ T2 T2 i | :
| | % Fara* Faag— : 1 :
STEERIRETSEE FHEERRTE e | | | |
Tom (EQ.3) Tom (Eq.3) ® g : s i
£HEHE R K IS &
Tomex (EQ.4) |
!
mmsccmEy 0 TmecTe Tn<Tay 0 AR Cetet
- 1.ED = =25 X 100%, t o =, + t, +
| t cycle
YES T2 : a. ik, c. ZiF,
ST ELE Fim P s T A985E n,, B YES d. BiE, p. ¥k (Eq.1)
BRI R EHR HIEE n,y (Eq.5)
| -
I nwork
éggfﬁ'ﬁ?ﬁiﬁ HE N PN Ny EiEdi iERE
Nyork EFREAIRE (Eq.2)
YLES
FHEREREEIL ETE 2 FHEE A F,, nZaXtaxT2a3+n20xtcxT203+n2dxtde2d3
#[5) 71 Fam (Eq.6) 3 Tom= Noa*tatNyXtotny Xty

| (Eq.3)
STERREE E ETZ 2 IS E N F,y

R p— _
B 71 F o BOBHFIA Fao Fao GREHE 95 4.1, 0= Toaxixkexn
b K, BRREY
Fom<F NO K
2rm "' 2rB —_— 3 SRRy
F2am<F2a8 BERARER 1.0
| 1.1
YES
v 1.3
RIZFT R HAERE R e 16
l 1.8
BEETH
T BESKHHIALE
n BIREIE R (Eq.4)
5.Ng, =Ny =%x Nae
Mg Xtatnp X totny Xty
S5 EHfiEE  EiREIA Nom = Ty
ERIEABRAGT AU TAR: oy = LIN (Eq.5)
‘_JL <4xJ,
1
RERNERRRATEET AR Nyaxt, xFZra +Ny Xt XFZrc +n2dxtdxF2rd
‘_J—; =J 6. Fom=3 Noa Xt NyeXt HNygxty
1

Jo BHEE

3 3 3
. - n2a xFZaa +n2cxtchZac +n2dxtdxFZad
J, BiEE=S

Mo Xty +Npext gty (Eq.6)

| {
J

I:2am




RGEHBYIE AR ESSEIN

Gear unit selection & announcements

5i&BFXESEE/Base concepts of precision planetary gear boxes

RatioifizELy
EEMANLE
nifrpm]

Ehil ot

nz[rpm]

Poles

BR/FEL

Efficiency
(Eves

Average lifetime

Precise positioning
TEAHEE

Backlash
EFE AR

i
3
B
8

Inertia

iRt

The proportion of inertia

1RELL

Noise
=

Operating conditions

TRt

Input speed/Output speed #iHiEiELL Hig LR

TR RIREIERE |, ERIEN SEEREE , NESRESENEEER. A RPRMERNSEREMRREN20°CAI%
HRNEN. MNREER S EREEEN

AR T ATBTMAZRENFIENLL T AR : n=ny/i

The number of set of planetary gear. Oweing to one set planetary gear can’ t satisfy bigger transmission
ratio,two or three sets can meet Users’ requirements of bigger transimission ratio. Since increasing the gear
quantity,the length of two or three poles motor will increase accordingly,of course,the efficiency will

reduce accordingly.

TEARNEYN., BT ETEERTEHERANEDNL  BNFERNESN =ERRERFPNERAEEATK ,
EER R AR/ RS, RTENTTENRNNE | A RS =RREAKESBFTIEN | 31
RO,

If refers to the gearing efficiency of the gearboxes in the case of the largest load.

SEATEREIENT | R BIEMRER. RRtEA |, REHS | BEER.

Refers to the continuous working time of the gearboxes of the highestinputrev.

BRI EAER ST |, SUEMANS R R A9 T (FRTTE.

In high-speed reciprocating mechanical movement achieve precise positioning is the key to minimizing the
movement through the angular deviation,positioning accuracy depends on the two values,with a load of the
deflection angle,involving a return to space with torsion stiffness,and the other is control of the movement and
rotation angle,involving partial synchronization the problem worse.

EEEN S EN P HEREHEMIKRET RENINESEH~ERBRE. EUBENRTHEME  — N ESEE
KiVmEER | IS REIEREEFHEENE ; B— 125 ENEFEXNRER  PREBESREDE.

HENB LSRR ARER , WEMSHERBNHERE  AEERHEADEINH—ESIRE (2%Ta), LL
SRR RRIEEE .

S @ [arcmin]

R E A TR REN AT | WS ERE
2, MR , S RENENSERE , AEER i
FANNERE TS 15 Bl SN B T AR H%E - TR
SEE , SR NHEEER | RIS E 5T o - @ faromin
BN, MEFETLAT AR SIERRIER ( je ) FORLER) UBIBHIE)

E(Cta),

| =
- - 2%EEHLE

Moment of the rotary inertiain this description refers to that at the input terminal.Said an object strive to maintain
their rotational state(or a stationary of rotating)characteristics of a value.

FRABPERZETERANR. R —MIERIRTE ORI (5@ el ) FE—ME.

Refer to the ration of load inertia and inertia drive system(motor with gearbox).This ratio determines the controllable
of the A value the greater is the moment of inertia greater margin,high-dynamic action on the more difficult process
of precision control.The values can be control in 5,gearboxes can be used to reduce load 1/i2.
BIERRIRESENRERIRE (BN LREY ) ZEAtE. XMUERET RRORE. MEEX , hHESENREE
BEHX , SRS RS EEERETRE | @IS ITRRMEEHIE < 5. NERERTLUSREIREEL/ 2

The unit is decibel(dB).The value is measured when the input rev is 3000r/m without load and at the distance of
one meter from the gearboxes.

BRSW (dB) . IEEREMANEEI30005/58 , Amtadl , IEERET—KIEERIERN.

Operating temp/T{ERE°C -10°C~+90°C
Degree of protection/BHiF&ELK 1P54/1P65

Lubrication/jigi&

Life time lubrication/I<30iEiE . B MR REIARTHEMLEER

Mounting position/&2EA

Any/fER




UER R
Ton[Nm]

ImEAE
[Nm]

E2HIahEE
[Nm]

TEIHE
T012[N m]

BRARHHEE
TZB

SCRRArEHAE
T2[Nm]

ITEFHE
Tc2[Nm]

MiERE
[Nm]

7
Fa[N]

zEh
FrN]

L EES TN
L CIE=

RERH

S

EFREEL
fi

HFERIECea
[Nm/Arcmin]

RESE
[Nm]

Special Notice

FERER

RE AR EESEIN

Gear unit selection & announcements

5ixBIEXIEFIELE/Base concepts of precision planetary gear boxes

Ton[NmIRERHVISATE) (TR ) TLANNERINRE ( RER ) | FENBEAHIES  RERH
S=1,FPG160/FABL42LATHNE , FiPFar/520000/\eF : FAB180LA EH AR S a5 /910000/\ET : TMEESF
ISODP63 365 HR SISO 28 Ll AR,

5 L{FREEAE/ ST 1000R AT SeiF At iENNEE i Himad iR A 0%E.  TIFREAE/ AT 1000 |, 40 i EE .
DmeEiAE R FEHR T AFHIEERIHI— NRAE |, SERERATIMEDAELINT T2 , BUSLGERTRE IS,

IEREN S HIRFTREINEAIRA IR | XNDAERTEREN SR EAAINEL1000)R © 43I AREBIT 10000k, ( &iE : FPG160
/FABLA2LATANEL A Tonor=2+T2s  FAB18OLA EHLEL A Tonor=1.5Tzs)

BN RN - AOLAT AR IR DRI D4E.

TR RS BRSE BaR M T RZ M | BRI EREEEHNRE.

FtHARBUR TR S AISERR i , PUEREAEEHAR T A T X MHAR.

STEEFRE KA , ATLRSSRARRERAT AR, UTAHBE To=T Ty

EMENFEADIERT R ERER LERAZNRIDE. BEHEATA © Mana=[Fa*y+Fr(X2+Z2)]1/1000

BIEHTTHON—D , ERFRRSHTRRE —ENHERE (Y2) i, SER—MEUMNMIZEOE. faEgs
AFESEEERT , AR TSRIE XA S,

EEEFRTHADN—] , EHTTRLH , BREARSHRE —ERMEER (Xo) . XMER—MIFR , 6
DR — N ERIRE.

IR AN IR i i i AR EEAEFIMEETT. AR EFIRAREEE IRE 7T PRI E S,
PR APEHRRARIHERISERAFIAISAIERE Mtinhe (1208 ) 897, SEAANAMERRRT , dilEa
HWE | AVTRYEEBEHEX ; 18R , (FEREHBEMT , RYFRYREEEHE/.

R RS T RIENATER IR SR EAIE.

(EFREERIUBIEN AN FREHE | B BEIRIEN AR HSEEAEE TR,

FRNNEDAEFNAF-E AR ZERILLEEEN . Cor=2T/~ BiARERS KBS et —IND . HERIE
EMETHHEEEN. EHEE FREEXTTH50%F100%XSEE |, EXNEER , &R EmRE—RE%k.

IHIEANAGEEELAN FBH SRR R0 (MNSRAEMEECHEER ) | BREEIRER. BWEREIRFRTcH S

B,

You can only refer to the input terminal dimension given in this book,special dimension is depend on the shaft
extension terminal of chosen motor,practical object’ s dimension will be difference with these in book,the
practical is depend on the finished product,the output terminal dimension is according to these given in this
book if not sign.

The weight of reduce motor given in this book is approximation,the practical is depend on the finished product.
FREHNBERETBARR S NMUSE | BARTRIEEETAMHERRTRE , BWSYINER I SEFHERE
8, NLATHSEmANERLE | EREREHEIERS FRE B LR R IR BIME.
RBEHIERMENEENIAIME | LREELUSNE. BHRERZEEBIIR.



YPGX Series

¥tE - xX5C5K(Model Type mark)

BN - BN - Bl - YA / IS

| R
o oo o

— = @ — —=

1
1
1
1
—_— -
Iy
e

, 160, 70, 80, 100

FUBMER: i BB, A  yme

| YPGX-042 VB (L) I g (L1) :

' YPGX-060 '3, 4, 5, 6 : ‘ ; HIERRES
| YPGX-090 '7, 8, 10 ' 81: FREM 1 P2: 553 :

| YPGX-115 : ' S2: MtgEETiM : :

| YPGX~142 ' WK (L2) ! 'R (L2) :

| YPGX-180 112, 15, 20, 25 ' : ]

| YPGX-220 Dy An e ' P2 74y !




Y PGX ~mtEgE—%5% / PRODUCT PERFORMANCE LIST

EEEEES#] / GEAR BOX PERFORMANCE INFORMATION

3
4 140 290 542 1, 050 1 7oo
5 22 60 160 330 650 1,200 2,000
1 6 20 55 150 310 600 = =
7 19 50 140 300 550 1,100 1,800
8 17 45 120 260 500 1,000 1,600
10 14 40 100 230 450 520 1,220
12 20 55 130 208 342 - -
15 20 55 130 208 342 588 1,140
20 19 50 140 290 542 1,050 1,700
S BT Nm 25 22 60 160 330 650 1,200 2,000
30 22 50 130 208 342 1,200 2,000
5 35 22 60 160 330 650 1,200 2,000
40 22 50 140 290 542 1,200 2,000
50 22 60 160 330 650 1,200 2,000
60 20 55 150 310 600 - -
70 19 50 140 300 550 1,100 1,800
80 17 45 120 260 500 1,000 1,600
100 14 40 100 230 450 520 1,220
R DFETs Nm 1,2 3~100 fFFE M HE
ik DNy rpm 1,2 3~100 5,000 5,000 4,000 4,000 3,000 3,000 2,000
BB EEne rpm 1,2 3~100 10,000 10,000 8,000 8,000 6,000 6,000 4,000
5 N 1 ~1 < < < < < < <
R aremin 2 13-180 s? s? s? s? s? s? s?
R Nm/arcmin 1,2 3~100 3 7 14 25 50 145 225
BAFR B JFos? N 1,2 3~100 780 1,530 3,250 6,700 9,400 14,500 50,000
B4 A FIF 20162 N 1,2 3~100 350 630 1,300 3,000 4,000 6,200 35,000
S 4 ) IF 22282 N 1,2 3~100 390 765 1,625 3,350 4,700 7,250 25,000
ER%Ew hr 1,2 3~100 20,000+
1 3~10 297%
BEn % 2 12~100 >94%
1 3~10 0.5 1.3 37 7.8 14.5 29 48
ER kg 2 12~100 0.8 1.9 41 9 17.5 33 60
ERR C 1,2 3~100 -10°C~+90°C
SR 1,2 3~100 & BEE R
Brip e 1,2 3~100 IP65
T T E 1,2 3~100 FEAE
12348 ( n1=3000rpm ) dB 1,2 3~100 <56 <58 <60 <63 <65 <67 <70
RIERYERE
3 0.03 0.16 0.61 3.25 9.21 28.98 69.61
4 0.03 0.14 0.48 2.74 7.54 23.67 54.37
. 5 0.03 0.13 0.47 2.71 7.42 23.29 53.27
6 0.03 0.13 0.45 2.65 7.25 22.75 51.72
7 0.03 0.13 0.45 2.62 7.14 22.48 50.97
8 0.03 0.13 0.44 2.58 7.07 2259 50.84
10 0.03 0.13 0.44 2.57 7.03 22.51 50.56
12 0.03 0.03 0.13 0.47 2.71 7.42 23.29
o m e - 15 0.03 0.03 0.13 0.47 2.71 7.42 23.29
Gt kg-em 20 0.03 0.03 0.13 0.47 2.71 7.42 23.29
25 0.03 0.03 0.13 0.47 2.71 7.42 23.29
30 0.03 0.03 0.13 0.47 2.71 7.42 23.29
35 0.03 0.03 0.13 0.47 2.71 7.42 23.29
2 40 0.03 0.03 0.13 0.47 2.71 7.42 23.29
50 0.03 0.03 0.13 0.44 2.57 7.03 22.51
60 0.03 0.03 0.13 0.44 2.57 7.03 2251
70 0.03 0.03 0.13 0.44 2.57 7.03 22.51
80 0.03 0.03 0.13 0.44 2.57 7.03 22.51
100 0.03 0.03 0.13 0.44 2.57 7.03 22.51
VRDELE ((i=Nin/Nout ) 2.5 HEES 100rpm B , /EF T M a s OMLE.

P ESERBEERAFHT S22




YPGX SMERIEZE/ OUTLINE DIMENSION SHEET

YPGX-042-L1

4 N\
HINH AR Input shaft bore =< ¢8
92
26
195 |4, 3 16
25 _ [ ||
g
S 8| =D+
110 1
R .
(N J
YPGX-042-L1
4 N\
BINMIATZR Input shaft bore = ¢ 11
96
26
42 19.5 4 g 60
2.5 14 r
1
S fe— s R =
¥ g 2 i ElE
o
> 0] 1] s
‘ - ‘
4-93.4 5.5 32
(N J
YPGX-042-L.2
. ~N
HINEATR Input shaft bore < ¢8
112
26
195 4 g § 60
)
i (B X
2,5 14 -
o i |
= =1 17
N g = I EE T s E
L] B )z(
-  — N | N
e 2.5 4-M4X10
. J
s A X1 MLRESEMTRTMERESR.
LR X2 DRMESHAMERRN, THEAGE,
[ M4x0.7P %1 Length will vary depending on motor.
w| | 32 Bushing will be inserted to adapt to motor shaft.
213hg 213h6
A S1 A s2




YPGX SMERIEZ/ OUTLINE DIMENSION SHEET

YPGX-060-L1
N

-
KNI Input shaft bore = ¢ 14
116
37 6
28,5 6
— 1 I e
_B 22 g
| = g - .
— O
15 |
_|_,L
15 | %
I |
4-M5x10
34
Y,

-

YPGX-060-L1
N

=
HINEIRZ Input shaft bore = ¢ 19

122
80
60 37
. 285 6
3 2 i :
] © (@]
~ S T
3 sl = - —+—phh—ht2 e 2
8 ’_E‘y | ___h )
15 ] |
1,5 _|_‘L
i I
42 4-M6x14
. J
YPGX-060-L2
4 N\
HMNBATE Input shaft bore < ¢ 14
145
37
28,5 6

B

|
766
0

~
§E T E
15 |
5 5
7
4-M5x10
34
(. J
s N X1 MREDENARMERER.
219 X2 DEMESHANRETRN, TRARE.
M5x0.8P %1 Length will vary depending on motor.
ol 3¢ 2 Bushing will be inserted to adapt to motor shaft.
@16h6 216h6
AN 51 AN S2




YPGX SMERIEZE/ OUTLINE DIMENSION SHEET

YPGX-090-L1

4 N\
EINEIAZE  Input shaft bore = ¢ 16
148
48
36,5 8
k28 5 :
@)X
S g 1- - % :-__ _-:{_ «© [=1
o» R s i
L — — - =4
10| !
15 '
10 6
1
© 4-M6x12
N\ J
YPGX-090-L1
4 N\
BWABAE WABAE Input shaft bore = @19
148
48
36,5 8
k28 !
o» R s i
L — - H- -4
19 1
15 '
6
10 41612
42
& J
YPGX-090-L1
. N\
BMINHIATE Input shaft bore = ¢ 24
" 165 130
36,5 8 |
|
B8 |
< \©\
o = - A TN "7 =f 2 2
; R e BT ~
19| |
]
15 10
]
. 10 :
59 4-M8x12
N\ J
- N X1 MREIENFERMERER.
6n9 X2 DIEHMESRANRETERR, AAANBE,
o M8x1.25P X1 Length will vary depending on motor.
* < | 32 Bushing will be inserted to adapt to motor shaft.
N
m @22h6
A s1 AR S2

=)
(2]
©
'
g




YPGX SMERIEZ/ OUTLINE DIMENSION SHEET

YPGX-090-L2

=
MINEH{R  Input shaft bore = ¢ 14
171
48
36,5 8
IE]
_ 4 28 "
3 (@]
o = - () [ | v | i M o
& I o e e
19 | 5
— 2
1,5
IE]
ol 34 4-M5x10
\
YPGX-090-L2
=
BINHATR Input shaft bore = ¢ 16
178
48
36,5 8
& ;
ko8 |
1
3 |
_’E - (] L 11 | L o
S % _’I‘E:EP"_"__ T 111 T _____'h:_g 8
1
19 ] 6
15 .
i€
10 2
\
YPGX-090-L.2
p=
BN AR Input shaft bore = ¢ 19
178
48
36,5 8
g :
_la 28 i
1
: o 0l ol
= s - o
8 % BIR T ol i i ____:____:____JE:_§ S
19 ] 6
15 '
id
10 4 4-M6x12
N\
e N X1 MEREDSENLARMERER.
6&,'_'__ ><2 EEitEﬁi&'—ﬂﬁ)\EﬂﬁéZﬁﬁ]ﬂ’f, ARABE,
o M8x1.25P X1 Length will vary depending on motor.
* § 2 Bushing will be inserted to adapt to motor shaft.
l ]
% @22h6
A Ss1 A= S2




YPGX SMERIEZE/ OUTLINE DIMENSION SHEET

YPGX-115-L1

4 N\
EINBITR  Input shaft bore = ¢ 24
200
65
15 51 0
— r
I
b 40 !
1 = :
= | T =T
& - - P EEd ¢ 2
Q F-dF--—
I
28 |2 ! 10
— L
| R | pd
12 I
j‘f 4-M8x20
64
\ J
YPGX-115-L2
4 N\
EINEATE Input shaft bore = 19
216
65
115
51 10
_pb_ 40 e} A
= A
= |
© gjv:ﬁg,,a,,,,&%@L:u&io
- 5| FFE-q7 - SRS
I
2% |2 b —H-
- [}
2 42
\ J
YPGX-115-L.2
4 N\
HINEIR{R  Input shaft bore = ¢ 24
234
115 8
51 10
— i} s
540 B i
[=2)
1 5 ©
5 — g
S e | 1o B A =
I
.10
28 |2 @ -
I
- g a
12 ]
59
. J
- N X1 MREDENFARMERER.
¥2 DEHESEMANRETER, AAANBE,
X1 Length will vary depending on motor.
2 Bushing will be inserted to adapt to motor shaft.
A S1 AR S2




YPGX SMERIEZ/ OUTLINE DIMENSION SHEET

YPGX-142-L1

4 N\
HINHIATZE  Input shaft bore =< ¢35
262
97
180
142 79 _h2
7 N ]
% b6 ]
o
. g g == _ ([ |— __E"_ - "'t_um': :
@9 = T 3
! 1
égg: y 36 3 M
NI e ] i
4-011 15 _ [ amt2xos]
81
\ J
YPGX-142-L.2
4 N\
HINHIRTR  Input shaft bore = ¢ 24
296
97
142 79 12
br S ]
2 b6 N '
]
© " 2 BEIE
- o & rr=no L LE T e
g E==-p | : S
L ]
S
DYy ) % | 3 :
N X = 1]
4011 15 | amge0
64
N\ J
YPGX-142-1.2
4 N\
BINHIATE  Input shaft bore =< ¢35
314
97 180
142 79 12 R
b7 S ]
4 I (
]
~ ~ : ™
. D) g g Ir=np— 4|4 L= === 8= 3
]
§°° y % | 3 _ 10
o )~ . \
> A 10
4011 15 — jﬁ .
81 | 4-M12x28
(. J
1 . h X1 MREIENARAMBRESR.
X2 DIEMESHRNRERRR, AIEARE.
N M16x2P %1 Lorsth wi -
ength will vary depending on motor.
for 2 Bushing will be inserted to adapt to motor shaft.
|_@40n6 | 940 |
AN S1 AR S2




YPGX SMERIEZE/ OUTLINE DIMENSION SHEET

YPGX-180-L1

BMINHIATE  Input shaft bore = ¢35

84

oo

=
S
=

D
O
| 935 |
?114 3
@ N
)
v
o P
180

——
R\
:\QSJ ]
Q

3 o

)
&/

L-913 .20, 85 | M12x28

YPGX-180-L1

BMINMIATE  Input shaft bore = ¢ 42
289
105
180 82 15 200
~ ool
/®\ /®\ N
b 10 ‘
o = J e :
o L2 | 3
57~ g -
4-9¢13 20|
9 4-M12X30

YPGX-180-L.2

MINHIAIE Input shaft bore = ¢35

340
105

180 82 15 180

/®\ /®\ k 70 S ! /®: ® \®\
| 8 \
fﬁ 1 O, f\
g ) g T EE 45 2
\J ° g * KJ
9 L2 | 3 *‘ri WQB. °

N,/ /] Mo R @ 4
AR e\ \ 5

L-¢13 120] 4=M12x

1610 X1 MREDENAETERER,
T ¥2 DEHESEMANRETER, AAANBE,
| M20x2.5P 31 Length will vary depending on motor.
2 Bushing will be inserted to adapt to motor shaft.

|_@55n6_|

AL S1 AR S2
N o7




YPGX SMERIEZ/ OUTLINE DIMENSION SHEET

YPGX-220-L1

BMINHIATZE  Input shaft bore = ¢ 55

368
220 138 20
105 B E
790 o
g s 4t 6 9 S g
~ S e A IRy ~
42 3 I8 | 10
- SN
130] 19 4L-M12X30
YPGX-220-L2
HMINHIATE  Input shaft bore = ¢35
402
220 138 20 185
105 || S © “oX
I 90 /'®‘\ /Q\
. *FAN e
g g = A =
X SR slg \ N -
17 © | ©
L2 3] o NS Ny
&0 | o °
> <A - 4-M12X30
L-917 | 30 85
YPGX-220-L2
HMINHIATE  Input shaft bore = 42
220 138 20
/385\ /ﬁ.\ 105 ] -
790
(N g = °
= KN e l S 2
1T kAl N
© ©)
> 5
554 L2 3| 10 Q
o> | VA
4-917 130 " | [M12x35

X1 MREDEMFRMEMRESR.

20ng X2 DIEMESHRNRERRR, AIEARE.
—— M20x2.5P 1 Length will vary depending on motor.
9| 2 Bushing will be inserted to adapt to motor shaft.
D
~
Rt
@75h6
A= s1 B S2




Hix & i<z A

MOTOR INSTALLATION INSTRUCTIONS

5i&%%i%E8 / MOTOR INSTALLATION INSTRUCTIONS

O FWADXSRENHNE, FEDERREN . LR TS,

© BREIA EREZTFHE;
WELE, BRETER.

O BANTE=MFESRAEY, HaDApiEs, BRMER
BRELTHER=IFL.

OEVHAERNDIEA, LURANER (R—) BIGHENEZS%, K
1~ARSlFr, FRIRFFIGHIE R 2 IReiz iz b,

6 BEESHENEIRR, LUR4ANE (F—) 2ilUHNE,
1~ AR, FEIDIRFISIRLETR,

O SRETENZANE, BHEORFEDXHRRIRLEIR,

O BEIE=FLIELIR,




Hix & i<z A

MOTOR INSTALLATION INSTRUCTIONS

5i&%%%i%EB / MOTOR INSTALLATION INSTRUCTIONS

= — RSB LA 13RI ER

i85 Rt NALRY | BRES.SIELZHIXIAN RE10.9BL HiXH A BE12.91824 7 Hi K 5
[mm] [Nm] [In-lbs] [Nm] [In-lbs] [Nm] [In-Ibs]
M3 x 0.5P 2.5 1.3 12 1.8 16 2.1 19
M4 x 0.7P 3 3 27 4.1 37 4.9 44
M5 x 0.8P 4 6.1 55 8.2 73 9.8 87
M6 x 1P 5 11 98 14 124 17 151
M8 x 1.25P 6 25 222 34 302 41 364
M10 x 1.5P 8 49 434 67 594 80 709
M12 x 1.75P 10 85 753 116 1028 139 1232
M14 x 2P 12 137 1214 186 1648 223 1976
M16 x 2P 14 210 1860 286 2534 343 3038
= Z Wi A WAL EINES
T kR B22e Rt AR BHEHEAN
[mm] [mm] [mm] [Nm] [In-1bs]
B <12 M3 x 0.5P x 8L 2.5 2.1 19
WK <12 M3 x 0.5P x 8L 2.5 2.1 19
B <19 M4 x 0.7P x 12L 3 4.9 44
W <19 M4 x 0.7P x 12L 3 4.9 44
[=2E7 <24 M5 x 0.8P x 20L 4 9.8 87
MR <19 M4 x 0.7P x 12L 3 4.9 44
Bgy <35 M8 x 1.25P x 30L 6 41 364
W <24 M5 x 0.8P x 20L 4 9.8 87
B <38 M10x 1.5P x 30L 8 80 709
PUEASS <35 M8 x1.25P x 30L 6 41 364
B <50 M12 x1.75P x 35L 10 139 1232
WK <38 M10 x 1.5P x30L 8 80 709
B <55 M16 x 2P x 40L 14 343 3038
PVEI <50 M12 x1.75PX 35L 10 139 1232

BT BLPEAHBART EiMME. EEFEN , THEEHHSEN EAZNEZ20% , LIERITE.




ZEEEEM

SAFETY PRECAUTIONS

RERHEEEE

Cautions for storage

=T H#{%MZISE Am b,
EEpS ﬁ,“\Tﬁu 'fTo
D WEFBRIGEHIZIETRE
@ BMAEZSIEHREISARER, BENERIFAERERS
8%, NEBRIWRSMEREMCREBIAE. EHEE).

Whenever temporarily keeping the product,
keep the following directions:

(D Keep in a clean and dry place.

(2 Whenever storing outdoors or in a humid place, put in a
box so that it does not directly contact rain or external air
and cover with a vinyl sheet(Take a measure to prevent
rust.).

WETRHERER

MR R B R AR -
- BUEME BE BRI ER RS R T ERT A BSRE R,
SRR, WA ERESE, FEREER,
XHKTéﬁ’i)\EHlE’J’F%P*#@ BRI
sOmEEHE E B RIS R (h AR
BB R BRI o

IE?E%\ RE
%T‘%E%MEUW‘E*E’J%%@E%O
EEEINZHE. KBHEIISEERR, FEEER
Y \TH%%O
® FHHAMREAEARREROT ~ 40 CHREH,
- WN7E_EIRE ESMYIR A R AR, WREARNTFIRR,
O HARRBEEAFRDAREANTREL, FABREE,
© REREE B REHEHER T,

WETHRRRIERSEE
@ A NFIERHERCERTREENHBE, MEETHEEER,
O VIREITH, FEARRMHENEEAEE, FiEEhigmnat,

WETHHERER
® EXEFEBET,
® H \EEAEBIBHRE M EREE,

@ FATIERE, FYEETIAETRE,
CREETRA LF

B Cautions for operation

B When the reducer is delivered to you
When the product delivered, please confirm that you received
the exact same model you have ordered.

Please wipe out the input and output shaft of the reducer
which is covered by anti-corrosive oil.
% Please remove the rubber cap on the input shaft before you
wipe the shafts.
* Lubricant(grease) is already filled in the reducer.
It is available as it is.

M Fixation & installation

@ Avoid use in a place where rain or water drops directly.
- In case of use outdoors or in a place where dust and
water drops, consult in advance.
@ Install at 0C "40C of surrounding temperature.
- In case of use at temperature out of the above-mentioned
range, contact the headquarters and consult on this.
@ Firmly fix with a bolt onto a solid stand without vibration.
@ Install in consideration of convenience in repair and inspection.

M Cautions prior to starting the operation

@ Reducer can be used soon after arrival, since it has already
been filled out with lubrication.

@ At initial operation, check the rotating direction of the
output shaft and then gradually apply load.

M Cautions during operation
@ Avoid overload.

@ Ensure that input speed shall not be the number of
revolutions beyond the specification.
@ In the following cases, stop the operation and check the

c RAHIRBRANEESR following points:
- BERABEAIRE - If temperature sharply increases
- If an abnormal noise appears sharply
« If the number of revolutions becomes unstable sharply
s
O RIEHRE
- EmPREHRMERFXEEERN,
- RIEHEMRZ T ERER,
- UTEAMEEREREHER,
1) REMIIERE,
) AEMBREEBESEEIRNEUZEBES LIRT., RENHE Bﬁm)‘h‘ﬁlﬁ’]ﬁﬁﬁo
3) B AEmEEE, ?éi?{if']ﬁ%%%ﬁﬁﬁ&ﬁﬂz¥i%qﬂ%’r%x.ﬁ!iﬁ’]l"ﬁ%?
4) HEBIRENSFEHEE
.




ZEEEEM

SAFETY PRECAUTIONS

® MREBLFERZ M FFIFEER, BRERINEHIEESEE
NEBR,
- BRRETEBAmIKE?
- REEBBAE. BHHERTERERNER®?
- Bk, i, EEIEEEEAES?
- R ERBHMERENRERR?

W EhEE
© HEHHSAEN R ARBREREEHAR.
HEHE XA TESHNEB®H, BIRENTIER,
® TREEIERAE,
@ “EREIREFEFO0T ~ 40CRUMNYIREE (5 AR,
BEAGARAT,

BEXgE

® ETPHHERMNIMREETESEES,
(nREAEREE+S0CURMEE, &H ARE)

o ik, BRI EAERERT.

® FEMEEREIRE,
*INRBEBLBRRE, BLAERFERLATH R,

O EiEm A E R,
* AR IR, FRAATBR,

WEHRE
® HEBAMIFEIEH,

© B, fiE, BERREEREFRERD,
® ERFEGHERE,
© EEIMUHIREMMEE
HREEREREE, FLNERIFERARARR,
©® HiEimAIfEE
KIR A E R, BREAQFBR,

WEEFTT %
FEFFRIEMRE, EIRIEESTEBIRIBMIRGIE, HEHE
MRSE, (EREXBEFWEITEE,
EREA Y B T 4%
O BEBHEGE: i, FHBRE, GBE. BEEHAER L
& AR AR
@ SRHIEDE: BIEEN. SdiEhE
@ MiBhs: ARAEEEMERG LAEBE, ERmEER
@ SHIERE: BB IASMOERG

@ These may be caused by the following matters, so rapidly
respond to it or contact us.
- Is it under overload condition?
- Is lubricant insufficient or deteriorated, or is lubricant of
other type used?
- Is the axis, gear, and motor side damaged?
- Is jointing with other machines poor?

H Disassembly
@ REDUCER is designed not to allow disassembly.

B Warranty
@ A warranty period is one year after the product is delivered to you.

M Lubricant use
@ The REDUCER is of grease-seal type in all models.
A specified amount of grease is filled at factory release, so
you can use as soon as it is delivered to you.
@ It is impossible to exchange grease.
@ In case of use at 0C 40T of surrounding temperature at
usual times, consider this in advance.

M Daily check points

@ [s reducer case temperature excessively high during
operation? (Up to + 50T is not significant.)

@ Is there an abnormal noise in the bearing, gear, etc?

@ Is there abnormal vibration in the reducer?
* Upon an abnormal phenomenon, immediately stop the

operation and contact us.

@ Is there a lubricant leak?

s Upon an oil leak, contact us.

M Periodic check points
@ Are there overload and abnormal rotation?
@ Are free, sprocket, and reducer assembling bolts loose?
@ Is there an abnormal condition in the electric system?
@ Checkup and repair of major parts
2% Upon an abnormal condition, immediately stop the operation
and contact us.
@ Oil leak
#*¢ Upon an oil leak, contact us.

M Scrapping

Whenever scrapping the REDUCER, classify the parts

by material into industrial wastes as specified in the laws and

regulations of self-governing bodies. Material of parts can be

divided into four:

(D Rubber parts : Oil seal, seat packing, rubber cap, seal used
for bearing on the motor flange, etc.

(2 Aluminum parts : Motor flange, output shaft holder

(3) Grease : Wipe off grease attached to parts with dry cloth
and scrap into oils.

@ Iron parts : Parts other than those mentioned in the above

WARRANTY PROVISION
+ Product warranty subject is only mainland area.
+ Warranty scope is the delivered product only.

l THE EXPENSES AND LOSSES THAT MENTIONED BELOW ARE NOT INCLUDED IN WARRANTY

1)The transport charges for repairing of our products.

2)The fee for the removal operation, reinstallation and other related operation in case our product is installed to the other machine.
3)The loss of the chances of use and indirect damages caused by the interruption of the services caused by our product's defects.
4)All other secondary expenses and losses.

_ J




AR SIA ] R—15

SERVO MOTOR MANUFACTURER LIST

AR EEMREK —EXR Servo Motor Manufacturer List

W B A& EE [k SERK Japanese Servo Motor Manufacturer

Panasonic #=X&#t REMHER =4t

Panasonic Corporation TOSHIBA MACHINE CO.,LTD.
B )IE% FANUC #k\ &t

YASKAWA Electric Corporation FANUC CORPORATION
=EHEKSHt SIS Eit

Mitsubishi Electric Corporation TAMAGAWA SEIKI CO.,LTD.
ErE#KEH A ERKE4t

FUJI ELECTRIC CO.,LTD. Nikki Denso

BRuBEERR N At HAEHHIER RS

OMRON Corporation Hitachi Industrial Equipment Systems Co.,Ltd.
U ERkELE ¥R E4t =HA

SANYO DENKI CO.,LTD. Sanmei Co.,Inc.

HRAEHERL BAZEE= kgt

KEYENCE CORPORATION. NIDEC SANKYO CORPORATION

BENEZFAREERFKR Global Servo Motor Manufacturer

ALLEN BRADLEY BECKHOFF
ABB LENZE

B&R LUST
BALDOR PARKER
BAUMULLER SAMSUNG
BOSCH REXROTH SCHNEIDER
DELTA SIEMENS
EMERSON (CONTROL TECHNIQUES) TECO
ESTUN GOLDEN AGE

* RABWARN ERSMNIRRBERK . ARSENSEERERIIES, FEAEXRA,

* The company also hosted a servo motor manufacturers, servo motors and stepper motors, and other business
other than the above, please contact the company.




A ZEEFEFEIR

& (FFRT, A FABEERRBEEBUERNSNIRIEER.

¢ FEMBEFAHSENERR IXAER MK BEIIESERET
FERER, F2FEMBRER

-

L

@ LiGZMENINERNMAE

SHANGHAI DONG ZHAN DRIVE INDUSTRY CO,LTD.

ADD.: No.126, Lane 255, South Sizhuan Road, Shanghai 201612,China
TEL.:0086 21 59766193; FAX.:0086 21 39294030

E-MAIL.: sales@dzgearmotor.com
WEBSITE: www.dzgearmotor.com



